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Question2. (FEAFLEEARIT X |)

XYZ corp DEBEDHMMEMEIE 100 THY, FICLH KD EHEEIX 300 THS. XYZ corp DIRED
Fw 270— (EBIT; denoted by CFg)l& 100 T, REXKH—ETHH LNDETS. LIz >TH
B, FROFYry270—DREMBEDETEIZ perpetuity DAXEFEZD. XRITEATR
[F40%THEHINET S.

(1) XYZ corp DEARIRANMEEMEDIHEICHWSEIFIZE) (THESHN?
XYZ corp DEEDFIFEIL 10%1ET 5.
(2) XYZcorp DEBRDEKRIRL rpZitEE L.
(3) XYZcorp DHAXDEKRIR reZ5tEE L.
Hint: First, calculate current cash flow of equity holders CFe. The total value of equities can be

calculated from CFg and the equity cost of capital re. It has to be equal to 300.

@) Q) Q)DIEREFH>THEL = XYZ corp DMEFHEARIRN, ()THEL-EAD
AP —HFBHILETHE.



